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1. (20pts.) A current balance apparatus¢€like one you used in lab) hasotpwarallel
wires as shown in the following diagram. The upper wire has lengthc2§. while the
lower wire has length 36.cm. A currentl is flowing in the lower wire to the left, while
a aurrent of equal magnitude flows in the upper wire to the rightseries of small
massesn can be placed on the top wire, and the curkeequired to return the top wire
to its equilibrium balance condition is recorded for each mass. Accordibg ,

m= (7. 73x 10 'kg/A?) 12
What is the equilibrium center-to-center separation of the bars?

]

A




Phys 112-01 Re-Test2  Name: SotuTions Page 2

1. (20 pts.) A current balance apparatus (like the one you used in lab) has two parallel
wires as shown in the following diagram. The upper wire has length 26. 5 cm, while the
lower wire has length 36.0cm. A current ] is flowing in the lower wise to the left, while
a current of equal magnitude flows in the upper wire to the right. A series of small mass-
es m can be placed on the top wire, and the current I required to return the top wire to its
equilibrium balance condition is recorded for each mass. According to Excel,

m =73 x 107kg/Ad 2

What is the equilibrium center-to-center separation of the bars?
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